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Name: Class:
Multiplication
~
Match the answer with the question.
1 a. 981x9 = . K = 4,290
b. 429 x10 = . E =1,260
c. 625x19 = . L =1,480
d. 67x15 = . P = 5,250
e. 28x18 = . «H = 9,747
f. 513 x19 = . «S =705
g. 767 %x6 = . «Q = 3,970
h. 47 x15 = . ol = 11,875
i. 383 x19 = . N =470
j. 821 x14 = . «J = 8,892
k. 350 %15 = . G =7,277
. 235x2 = . F =10,263
m. 84 x15 = . M = 270
n. 933 x11 = . R = 504
0. 90x3 = . «C = 8,829
p. 966 x 16 = . B = 11,494 o
q. 794 x5 = . «T = 1,005 I
r. 296x5 = . D =705
s. 468 x19 = . +O = 4,602 A
t. 706x1 = . A = 15,456 o
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Name:

Class:

Multiplication

Match the answer with the question.

1.

a.

b
C
d.
e.
f
9
h

981 x9 =

C

429 x 10 =
625 x 19 =
67 x 15 =

K
I

—]

28 x 18 =

913 x 19 =
/67 x6 =

47 x 15 =
383 x 19 =
821 x 14 =
350 x 15 =
235x2 =

4‘(
4

84 x 15 =
933 x 11 =
90 x 3 =

966 x 16 =
794 x5 =

296 x5 =
468 x 19 =
705 x1 =

K = 4,290
E =1,260
L = 1,480
P = 5,250
H = 9,747
S =705

Q = 3,970
| = 11,875
N =470

J = 8,892
G =17,277
F =10,263
M =270

R = 504

C = 8,829
B =11,494
T =1,005
D =705

O = 4,602
A = 15,456
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